## 09/22/06 09:30:21

## Election Summary Report 2006 PRIMARY ELECTION, YAVAPAI COUNTY, AZ Summary For 42-Red Rock 2, All Counters, All Races OFFICIAL FINAL RESULTS

Registered Voters 996 - Cards Cast 261 26.20%

Num. Report Precinct 1 - Num. Reporting 1 100.00%

US SENATOR (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	106/322	32.9 %
Total Votes	98	
PEDERSON, JIM	98	100.00%
Write-in Votes	0	0.00%

US SENATOR (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	152/354	42.9 %
Total Votes	125	
KYL, JON	122	97.60%
Write-in Votes	3	2.40%

US SENATOR (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	3/10	30.0 %
Total Votes	3	
MACK, RICHARD	3	100.00%
Write-in Votes	0	0.00%

US REP 1 (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	106/322	32.9 %
Total Votes	103	
CACCIOPPOLI, MIKE	6	5.83%
DONAHUE, BOB	9	8.74%
FRIEDMAN, SUSAN	8	7.77%
MCKERLIE, VIC	5	4.85%
SIMON, ELLEN	75	72.82%

Write-in Votes	0 0.009	6
US REP 1 (REP)	REP	
Ni-mak and C.D.	Total	
Number of Precincts	1	,
Precincts Reporting	1 100.0 9	6
Vote For	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	,
Times Counted	152/354 42.9 9	6
Total Votes	103	_
RENZI, RICK	98 95.159	6
Write-in Votes	5 4.859	6
770 7 7		
US REP 1 (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1 100.0 9	6
Vote For	1	
Times Counted	3/10 30.0 %	6
Total Votes	3	_
SCHLOSSER, DAVID	3 100.009	6
Write-in Votes	0 0.009	6
GOVERNOR (DEM)	DEM	
Number of Precincts	Total	
	1 100.00	,
Precincts Reporting Vote For	1 100.0 9	0
Times Counted	1	,
Total Votes	106/322 32.9 9 106	0
Total votes	100	_
NAPOLITANO, JANET	106 100.009	6
Write-in Votes	0 0.009	6
COVERNOR (DEE)	DED	
GOVERNOR (REP)	REP	
Number of Precincts	Total 1	
Precincts Reporting	1 100.0 %	_
Vote For	1 100.0 9	U
Times Counted	152/354 42.9 %	6
Total Votes	130	U
Total votes	130	_
GOLDWATER, DON	45 34.629	
HARRIS, MIKE	10 7.69%	ll.
MUNSIL, LEN	64 49.239	
TUPPER, GARY	6 4.629	
Write-in Votes	5 3.85%	6

LBT	
Total	
1	
1	100.0 %
1	
3/10	30.0 %
	Total 1 1 1

Total Votes	3	
HESS, BARRY J., II	3	100.00%
Write-in Votes	0	0.00%
CTATE CONTROL (DD)		
STATE SENATOR 1 (DEM)	DEM	
N L C Due sin etc	Total	
Number of Precincts	1 1	100 0 0/
Precincts Reporting Vote For	1 1	100.0 %
Times Counted	106/322	32.9 %
Total Votes	90	32.5 /0
Total votes		
KELLEHER, JO	90	100.00%
Write-in Votes	0	0.00%
STATE SENATOR 1 (REP)	REP	
STATE SENATOR I (REF)	Total	
Number of Precincts	10tai 1	
Precincts Reporting	1	100.0 %
Vote For	1	100.0 /0
Times Counted	152/354	42.9 %
Total Votes	146	72.5 /0
Total voics	170	
O'HALLERAN TOM	104	71 23%

STATE SENATOR 1 (REP)	REP	
, ,	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	152/354	42.9 %
Total Votes	146	
O'HALLERAN, TOM	104	71.23%
STOLL, WILLIAM	33	22.60%
TOWNSEND, ELISE	9	6.16%
Write-in Votes	0	0.00%

STATE SENATOR 1 (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	3/10	30.0 %
Total Votes	2	
Write-in Votes	2	100.00%

STATE REP 1 (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	2	
Times Counted	106/322	32.9 %
Total Votes	94	
EDMONDS, WESLEY	94	100.00%
Write-in Votes	0	0.00%

STATE REP 1 (REP)	REP
	Total
Number of Precincts	1
Precincts Reporting	1 100.0 %
Vote For	2

Times Counted	152/354	42.9 %
Total Votes	189	
CAMPBELL, NOEL	31	16.40%
DETWILER, BRYAN	45	23.81%
MASON, LUCY	81	42.86%
TOBIN, ANDY	32	16.93%
Write-in Votes	0	0.00%
STATE REP 1 (LBT)		
	Total	
Number of Precincts	1	
D 1 . D .1	4	400.00/

STATE REP 1 (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	2	
Times Counted	3/10	30.0 %
Total Votes	3	
,		
Write-in Votes	3	100.00%

SEC OF STATE (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	106/322	32.9 %
Total Votes	93	
TORRES, ISRAEL	93	100.00%
Write-in Votes	0	0.00%

SEC OF STATE (REP)	REP	
•	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	152/354	42.9 %
Total Votes	103	
BREWER, JAN	101	98.06%
Write-in Votes	2	1.94%

SEC OF STATE (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	3/10	30.0 %
Total Votes	3	
HANCOCK, ERNEST	3	100.00%
Write-in Votes	0	0.00%

ATTORNEY GENERAL (DEM)	DEM	
Number of Precincts	Total 1	

	Precincts Reporting	1	100.0 %	
	Vote For	1		
	Times Counted	106/322	32.9 %	
	Total Votes	98		
	GODDARD, TERRY	98	100.00%	
	Write-in Votes	0	0.00%	
	ATTORNEY GENERAL (REP)	REP		
1		Total		
<b>!</b>	Number of Precincts	1		
	Precincts Reporting	1	100.0 %	
	Vote For	1		
	Times Counted	152/354	42.9 %	
	Total Votes	94		
	MONTGOMERY, BILL	94	100.00%	
	Write-in Votes	0	0.00%	
	ATTORNEY GENERAL (LBT)	LBT		
		Total		
	Number of Precincts	1		
	Precincts Reporting	1	100.0 %	
	17 · 17	4		

ATTORNEY GENERAL (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	3/10	30.0 %
Total Votes	1	

STATE TREASURER (DEM)	DEM	
·	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	106/322	32.9 %
Total Votes	87	
SINGH, RANO	87	100.00%
Write-in Votes	0	0.00%

STATE TREASURER (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	152/354	42.9 %
Total Votes	96	
MARTIN, DEAN	96	100.00%
Write-in Votes	0	0.00%

STATE TREASURER (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1 100.0 %	

Vote For		1		
Times Counted		3/10	30.0 %	
Total Votes		2		
Write-in Votes		2	100.00%	
SUPT OF PUB INST (DEM)	DEM			
		Total		
Number of Precincts		1		
Precincts Reporting		1	100.0 %	
Vote For		1		

SUPT OF PUB INST (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	106/322	32.9 %
Total Votes	83	
MEAD, SLADE	33	39.76%
WILLIAMS, JASON	50	60.24%
Write-in Votes	0	0.00%

SUPT OF PUB INST (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	152/354	42.9 %
Total Votes	97	
HORNE, TOM	97	100.00%
Write-in Votes	0	0.00%

SUPT OF PUB INST (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	3/10	30.0 %
Total Votes	0	
Write-in Votes	0	N/A

ST MINE INSP (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	106/322	32.9 %
Total Votes	5	
Write-in Votes	5	100.00%

ST MINE INSP (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	152/354	42.9 %

	Total Votes	107	
	HART, JOE	72	67.29%
	NELSON, LARRY	35	32.71%
	Write-in Votes	0	0.00%
	ST MINE INSP (LBT)	LBT	
	01 111112 11102 (-2-2)	Total	
	Number of Precincts	1	
.	Precincts Reporting	1	100.0 %
	Vote For	1	
ı	Times Counted	3/10	30.0 %
	Total Votes	2	
	Write-in Votes	2	100.00%
	CORP COMM (DEM)	DEM	
1	CORF COMM (DEM)	Total	
	Number of Precincts	1	

CORP COMM (DEM)	DEM	
, ,	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	2	
Times Counted	106/322	32.9 %
Total Votes	120	
BOYER, RICHARD	65	54.17%
MANOIL, MARK	54	45.00%
Write-in Votes	1	0.83%

CORP COMM (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	2	
Times Counted	152/354	42.9 %
Total Votes	135	
MAYES, KRIS	73	54.07%
PIERCE, GARY	62	45.93%
Write-in Votes	0	0.00%

CORP COMM (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	2	
Times Counted	3/10	30.0 %
Total Votes	4	
FOWLKES, RICK	3	75.00%
Write-in Votes	1	25.00%

COUNTY SCH SUPT (DEM)	DEM
	Total
Number of Precincts	1
Precincts Reporting	1 100.0 %

Vote For	1	
Times Counted	106/322	32.9 %
Total Votes	2	
Write-in Votes	2	100.00%
COUNTY SCH SUPT (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	152/354	42.9 %
Total Votes	89	
CARTER, TIM	89	100.00%
Write-in Votes	0	0.00%
COUNTY SCH SUPT (LBT)	LBT	

COUNTY SCH SUPT (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	3/10	30.0 %
Total Votes	0	
Write-in Votes	0	N/A

CLERK SUPERIOR COURT (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	106/322	32.9 %
Total Votes	2	
Write-in Votes	2	100.00%

CLERK SUPERIOR COURT (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	152/354	42.9 %
Total Votes	103	
HICKS, JEANNE	84	81.55%
MEDDAUGH, WAYNE	19	18.45%
Write-in Votes	0	0.00%

CLERK SUPERIOR COURT (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	3/10	30.0 %

Total Votes	0	
Write-in Votes	0	N/A
JP VERDE VLY 2 (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	106/322	32.9 %
Total Votes	4	<b>U</b>
Write-in Votes	4	100.00%
JP VERDE VLY 2 (REP)	REP Total	_
Number of Precincts	10tai 1	
Precincts Reporting	1	100.0 %
Vote For	1	100.0 / 5
Times Counted	152/354	42.9 %
Total Votes	104	44.0 /0
LUNDY, BILL	104	100.00%
Write-in Votes	104	0.00%
Write-in votes	U	U.UU /U
JP VERDE VLY 2 (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	3/10	30.0 %
Total Votes	1	<del>-</del> -
Write-in Votes	1	100.00%
Write-iii votes	<b>1</b>	100.0070
CONSTABLE VERDE VLY 2 (DEM)	DEM	
	Total	
Number of Precincts	1	100 0 0/
Precincts Reporting	1	100.0 %
Vote For	100/222	22.0.0/
Times Counted	106/322	32.9 %
Total Votes	4	
Write-in Votes	4	100.00%
CONCEADI E VEDDE VI V 2 (DED)	REP	
CONSTABLE VERDE VLY 2 (REP)	REP Total	
Number of Precincts	1	
	1	100.0 %
Drocincte Ranorting	1	100.0 /0
Precincts Reporting	1	
Vote For	1ED/2E/	42 A 0/
Vote For Times Counted	152/354	42.9 %
Vote For	152/354 93	42.9 %
Vote For Times Counted		42.9 % ———— 98.92%

CONSTABLE VERDE VLY 2 (LBT)	LBT	
, ,	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	3/10	30.0 %
Total Votes	0	
Write-in Votes	0	N/A
JUDGE SUPERIOR COURT 1 (DEM)	DEM	
	Total	
Number of Precincts	Total 1	
Number of Precincts	Total 1 1	100.0 %
, ,	Total 1 1 1	100.0 %
Number of Precincts Precincts Reporting	Total 1 1 1 106/322	100.0 % 32.9 %
Number of Precincts Precincts Reporting Vote For	1 1 1	

JUDGE SUPERIOR COURT 1 (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	152/354	42.9 %
Total Votes	93	
MACKEY, DAVID L.	93	100.00%
Write-in Votes	0	0.00%

JUDGE SUPERIOR COURT 1 (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	3/10	30.0 %
Total Votes	0	
Write-in Votes	0	N/A

JUDGE SUPERIOR COURT 2 (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	106/322	32.9 %
Total Votes	2	
Write-in Votes	2	100.00%

JUDGE SUPERIOR COURT 2 (REP)	REP	
	Total	
Number of Precincts	1	

Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	152/354	42.9 %
Total Votes	92	
BRUTINEL, ROBERT	92	100.00%
Write-in Votes	0	0.00%
JUDGE SUPERIOR COURT 2 (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	3/10	30.0 %
Total Votes	0	
Write-in Votes	0	N/A
HIDGE CUREDIOD COURT 3 (DEM)	DEM	
JUDGE SUPERIOR COURT 3 (DEM)	DEM	
N 1 (Due -in -t-	Total	
Number of Precincts	1	400 0 0/
Precincts Reporting	1	100.0 %
Vote For	100/222	27.2.07
Times Counted	106/322	32.9 %

JUDGE SUPERIOR COURT 3 (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	106/322	32.9 %
Total Votes	2	
Write-in Votes	2	100.00%

JUDGE SUPERIOR COURT 3 (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	152/354	42.9 %
Total Votes	90	
STERLING, JANIS ANN	90	100.00%
Write-in Votes	0	0.00%

JUDGE SUPERIOR COURT 3 (LBT)	LBT		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	3/10	30.0 %	
Total Votes	0		
Write-in Votes	0	N/A	

JUDGE SUPERIOR COURT 5 (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	106/322	32.9 %

Total Votes	2		
Write-in Votes	2	100.00%	
HIDGE CUREDION COURT 5 (DED)	REP		
JUDGE SUPERIOR COURT 5 (REP)	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	152/354	42.9 %	
Total Votes	89		
KIGER, WILLIAM	89	100.00%	
Write-in Votes	0	0.00%	
JUDGE SUPERIOR COURT 5 (LBT)	LBT		
Namel or of Donator (	Total		
Number of Precincts	1	100.00/	
Precincts Reporting	1	100.0 %	
Vote For	1	20.0.0/	
Times Counted	3/10	30.0 %	
Total Votes	0		
Write-in Votes	0	N/A	
JUDGE SUPERIOR COURT 6 (DEM)	DEM		
JOBGE GOLLHON GOCKI ( (BEN1)	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	106/322	32.9 %	
Total Votes	1		
Write-in Votes	1	100.00%	
JUDGE SUPERIOR COURT 6 (REP)	REP Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	152/354	42.9 %	
Total Votes	90		
LINDBERG, THOMAS	90	100.00%	
Write-in Votes	0	0.00%	
JUDGE SUPERIOR COURT 6 (LBT)	LBT		
Number of Precincts	Total		
	1	100.0 %	
Precincts Reporting Vote For	1 1	100.0 %	
Times Counted	3/10	30.0 %	
Total Votes	0	JU.U /0	
Write-in Votes	^	 N/A	
vviile-iii voles	0	IN/A	